PRO 4 WHEEL OFF ROAD DOLLY




Pro 4 Wheel Dolly Off Road Quick Setup

) 3/4 x 1-1/2 Plastic Washer i
3/8-16 Nylon Insert Lock Nut | 1/2 ID x 1-1/2 OD Plastic Washer

3/4 x 2-1/2 Plastic Washer

3/4 x 1-1/2 Plastic Washer

3/8 ID Flat Washer

3/4 x 2-1/2 Plastic Washer
1/2 ID x 1-1/2 OD Plastic Washer

Washer, 3/4 x 5-5/8 x 3/16 1/2 ID Flat Washer
1/2-13 THREADED SHAFT COLLAR



STRAP POSITIONING

o Strap

WHEEL AND STEERING REFERENCE

Locking Plate on Right Rear Wheel
Rear Wheels Only ' Assembly

Verify Dog Point
holes are facing
toward front of
=% Frame

o
NCIC | ]
\4

Left Rear Wheel
Assembly



Pro 4 Wheel Dolly Off Road Setup

FOR STANDARD @
STEERING UPGRADE @




ITEM NO.

QTY

PART NUMBER

DESCRIPTION

1 1 PD-100 Quad Dolly Main Member w/Foot

2 1 PD-101 Quad Dolly Member w/o Foot

3 2 PD-102 Quad Dolly Side Member

4 2 PD-103 Off Road Dolly Cross Tie

5 1 PD-104 Off Road Left Front Fork Assy

6 1 PD-105 Off Road Right Front Fork Assy

7 1 PD-106 Off Road Left Rear Fork Assy

8 1 PD-107 Off Road Right Rear Fork Assy

9 2 CK-1016 3/4 1D One Piece Shaft Collar

10 1 PD-108 Off Road Dolly T-Handle

11 1 PD-109 Off Road Dolly Steering Block

12 2 PD-110 Off Road Dolly Steering Clamp

13 2 PD-111 Steering Linkage Tube

14 3 ARD-CP-1000 3/4 x 2-1/2 Plastic Washer

15 4 ARD-CP-1001 3/4 x 1-1/2 Plastic Washer

16 4 PH-315 1/4-20 x 1 Skt Shoulder Screw

17 1 PH-294 1/2-13 x 5-1/2 Hex Bolt

18 2 ARD-CP-1002 1/2 1D x 1-1/2 OD Plastic Washer
19 1 MM-106 1/4-20 Knob w/ Threaded Stud

20 1 PH-223 5/16-18 x 2 Skt Hd Cap Screw

21 1 PH-228 5/16-18 Wing Nut

22 4 PH-255 3/8 ID Flat Washer

23 4 PH-253 3/8-16 Nylon Insert Lock Nut

24 2 PH-251 3/8-16 x 5 Hex Bolt

25 2 PH-332 3/8-16 X 1 Full Dog Set Screw

26 1 MS-110 1/2-13 THREADED SHAFT COLLAR
27 2 PH-271 1/2 ID Flat Washer

28 1 ARD-DL-1000 1/2 x 2-3/8 x 5/16 Steering Upgrade Washer
29 2 ARD-CP-1003 3/4 x 2.60 x 3/16 Front Wheel Washer




4 Wheel Dolly Steering Modification

1.500

O

19.800
[502.92 ]

1/2-13 DRILL THROUGH
(0.500 [12.70])
TOP AND BOTTOM WALLS




	Sheet1
	Drawing View1

	Sheet2
	Off Road Quad Dolly Setup.PDF
	Sheet1
	Drawing View1

	Sheet2
	4 Wheel Off Road Dolly Lamanent.PDF
	Sheet1
	Drawing View1



	Off Road Quad Dolly Assy.PDF
	Sheet1
	Drawing View1


	Pro 4 Wheel Off Road Dolly Lamanent.PDF
	Sheet1
	Drawing View1


	4 Wheel Dolly Off Road Steering Mod.PDF
	Sheet1
	Drawing View1
	Drawing View2





